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Name: Date:

Topic: Numeracy I/V/G/M/PP/FP
Money: Equivalent Values Within $5

Complete the worksheets according to the following
instructions:

1. Read the problem sum.
2. Type the answer to question (a).
3. Type the answer to question (b).

4. Count and click on the number of coins / notes
needed to pay the correct amount.

5. Type the answer to question (c).

Refer to the next page for an example.

Remarks:
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Example:

Andy wants to buy a chocolate bar.

The chocolate bar costs $3.50.

Andy only has 50 cent coins in his wallet.

How many 50 cent coins does Andy need to pay for the
chocolate bar?

(a) How much does the chocolate bar cost?

$3.50

(b) What type of coins / notes must Andy use?

50 cent coins

(c) How many 50 cent coins does Andi need to pay?

Andy needs to pay 50 cent coins to make
$3.50 for the chocolate bor.

Remarks:
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Lily wants to buy a bubble gun.

The bubble gun costs $5.00.

Lily only has 50 cent coins in her wallet.

How many 50 cent coins does Lily need to pay for the
bubble gun?

(a) How much does the bubble gun cost?

(b) What type of coins / notes must Lily use?

(c) How many 50 cent coins does Lily need to pay?

Lily needs to pay 50 cent coins to make
$5.00 for the bubble gun.

Remarks:
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Michael wants to buy a sweet.

The sweet costs $0.50.

Michael only has 10 cent coins in his wallet.

How many 10 cent coins does Michael need to pay for the
sweet?

(a) How much does the sweet cost?

(b) What type of coins / notes must Michael use?
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Michael needs to pay 10 cent coins to make
$0.50 for the sweet.

Remarks:
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Owen wants to buy slime.
The slime costs $4.00.

slime?

Owen only has 1 dollar coins in his wallet.
How many 1 dollar coins does Owen need to pay for the

(a) How much does the slime cost?

000
000

$4.00 for the slime.

Remarks:

(b) What type of coins / notes must Owen use?
(c) How many 1 dollar coins does Owen need to pay?

00
00

Owen needs to pay 1 dollar coins to make
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Quentin wants to buy glue.
The glue costs $0.70.

glue?

Quentin only has 10 cent coins in his wallet.
How many 10 cent coins does Quentin need to pay for the

(a) How much does the glue cost?
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Quentin needs to pay
$0.70 for the glue.

Remarks:

(b) What type of coins / notes must Quentin use?

ow many 10 cent coins does Quentin need to pay?

10 cent coins to make
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Rachel wants to buy a squeeze ball.

The squeeze ball costs $1.00.

Rachel only has 20 cent coins in her wallet.

How many 20 cent coins does Rachel need to pay for the
squeeze ball?

(a) How much does the squeeze ball cost?

(b) What type of coins / notes must Rachel use?

Rachel needs to pay 20 cent coins to make
$1.00 for the squeeze ball.

Remarks:

ZaLIVEWORKSHEETS



Rainbow Centre
Yishun Park School
M2Q

Name:

Topic: Numeracy
Money: Equivalent Values Within $5

Date:

1/V/G/M/PP/FP

Shaun wants to buy Hello Panda.
The Hello Panda costs $1.50.

Hello Panda?

Shaun only has 50 cent coins in his wallet.
How many 50 cent coins does Shaun need to pay for the

$1.50 for the Hello Panda.

Remarks:

(a) How much does the Hello Panda cost?

(b) What type of coins / notes must Shaun use?

(c) How many 50 cent coins does Shaun need to i ay?

Shaun needs to pay 50 cent coins to make
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Usher wants to buy a toy lizard.

The toy lizard costs $1.00.

Usher only has 10 cent coins in his wallet.

How many 10 cent coins does Usher need to pay for the
toy lizard?

(a) How much does the toy lizard cost?

(b) What type of coins / notes must Usher use?
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Usher needs to pay 10 cent coins to make
$1.00 for the toy lizard.

Remarks:
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